Qwybpuo N 7
Gnlwl punwph wjwqulnt
2010 pywlywGh nkymbdptph 23-h
N 169 -'U npnpdwG

Ungymuwy 1

GLEJULD 2011 edUGULD ASNARYEGD JULULUTL U HNLAUSHL UUUG,hS KUSUUSNrUILELE 2US
A3NFRGSUBLL OUUG LR ANrOUNULUL BY. SLSEULGhSULUL AUUUGULGUUL BLEYULR
LUALLUNEGSULTLD (UAULS LY UL JUMULUUL Cr2ULLELD) UUUNY

(hwqup guudGepny)
zZ AmotimwjhG dwiuutph gnpéwpwliwb puuwluwpqiwb wyn pynid
Z % %‘" 5 pwdhGGtph, fudptph L nuubtph, hGsuybu Gul pyngtnmuhG ’E = Cnuwsha
E E E ¢¢| odwfuutph mGmbuwghnmubwl nwuwywpqiwb hnnuoGhph % = TRUUEAR Jupswlwl pymet | $nGnwjhG pymet:
wijulmdibtpp v
1 12(3]|4 5 6 7 8 9
LLHUUGLE BUUGE 41,995,831.1 41,017,256.2 3,794,695.9
CLIKULARM RUNRBER LULLUSRL
2100({01|0]0 SUNUBNRM3ORLLED 2,785,236.4 1,793,040.4 992,196.0
w1} pynui®
OntGunhp L gnpownhp swpdhG6bp, whinwlwl Junwywpnid,
2110{ 01| 1| 0| phGmbumlub & hwplyupymebunuhl hwpwpbpnipym GGG, 2,415,236.4 1,673,040.4 742,196.0
wnnuwphl hwpwpbpmpymGGap
nphg
2111] 01| 1 | 1|OnptGunhp L gnpownhp dwpdhGabp,wytnwlul junwyupnud 2,415,236.4 1,673,040.4 742,196.0
wyn pynud’
1. Gupunjupdwl JwpdGh ywhuwGnd 1,835,130.4 1,673,040.4 162,090.0
-UpuwwnnnGhph wp luwmwyupdtip b hwgtuygwplbp 4111 714,974.0 714,974.0 -
Liﬁ“:ll;lgt?;lwmpmﬁﬁhp, npuwiwjul fupwhuntundGtip b hwnnmy 112 71,4974 71.497.4 )
-Unghwjuwl wywhnynipjul yGwpGtp 4131 116,397.8 116,397.8 -
-EGtpgtinhy dwnwynipymGGtp 4212 47,759.6 47,759.6 -
-UndniGw) dwnwjnipniGGtp 4213 4,373.5 4,3735 -
-Quuh dwnwjnipyntGhtn 4214 66,729.1 66,729.1 -
- Uywhnjugpulwb dwluutip 4215 840.0 840.0 -
-Qnyph L uwppwynpnuiGlph Jupdwwimpjni 4216 136,500.0 136,500.0 -
-UpnwuwhiwGjul qnponiyndGtph qony dwhuubipn 4222 50,000.0 50,000.0 -
-Jwpswiwl swnwnmpniGGtn 4231 1,500.0 1,500.0 -
-LwiwlwpgswjhG SwnwynipniGhtp 4232 22,356.0 22,356.0 -
?ﬁﬁfﬁjﬂf&%ﬁﬁ dwulwghuulul qupguguwd 4233 10,868.0 10,868.0 -
-Stnuwlyuunyului dwnwjnipniGGtp 4234 24,800.8 24,800.8 -
-Gunwyupswlwl ownwnpynGGtp 4235 10,000.0 10,000.0 -
-Lhinjuyugnigswub dwhiubtn 4237 85,000.0 85,000.0 -
-CGanhwnip pGniyph wy) OwnwynmpyniGatp 4239 139,762.1 139,762.1 -
-UwuGwghnwlwl dwnwympntGGtp 4241 2,000.0 2,000.0 -
l;l[lll'lhlﬁziuéﬁiyh L uwppwynpnuiGtph pGpwghy Gnpngnid L 4252 67,840.0 67.840.0 )
-QnuutGyuyuwyhG Gyniptip L hwgniun 4261 32,946.8 32,946.8 -
-SpwGuynpuuwjhG Gyniptp 4264 36,945.3 36,945.3 -
-UtlGgunujhG L hwGpwjhG uGGnh Gyniptp 4267 4,090.0 4,090.0 -
~{wwnnty GuuwwmwyuwjhG wy Gynipbp 4269 2,000.0 2,000.0 -
-Uj1 Guyyuwuwnbbp pyjnigbihg 4729 18,720.0 18,720.0 -
-Mupwmunhp yGwpGtip 4823 140.0 140.0 -
-Uy owfuutip 4861 5,000.0 5,000.0 -
-SpwGuwnpuuwhG vwppwynpnidGtp 5121 126,000.0 - 126,000.0
-Jwpswiwl vwppuwynpmuiGip 5122 35,250.0 - 35,250.0
-N; Gynipwul hhiGwywb dhongGtip 5132 840.0 - 840.0
2. Jwpswlw(G opjblinGtph hhiGwlnpngnid 580,106.0 - 580,106.0
- Chliptiph L phGmipyniGGhph Juwhwwy ypuwinpngnid 5113 580,106.0 - 580,106.0
LlnhwGnip pGnijph hwlmuhl ownwynip/omGGbph gon
2150/ 01| 5]0 hhg’; qnml; qu ﬁ”zﬁﬁwluflqgfujﬁ ; wz]{lwpufw o ﬁﬁ gom| 250,000.0 ; 250,000.0
nphg”




BmotmuwjhG Swfuutinh qnpownwiwl nuuwlwpqiwm

wyn pynid

pd
Z |£|9]5| pwontetph fuptph L nwubph, hGzwbu Gwb pmobwwh |8 2| L o
v§> CBL E ¢| owfuutiph mGmbtuwghmwwl nuuwywpqiwb hnnpwdGkph %Z R Jupswlwl pyoigh | PnGrwhG pymet
wlywimubtpp ~
1 (234 5 6 7 8 9
2151/ 01| 51 EgﬁiﬂﬁﬁjE%Efigﬁﬁﬁﬁﬁﬂﬂgﬁg qony 250,000.0 - 250,000.0
wyn pynud’
1. bwfuwqdéwhl wyfuwumuGpGhn 200,000.0 - 200,000.0
- Lwjuwqowhtinmwgnunuywl dwuutp 5134 200,000.0 - 200,000.0
2. Gplwl w wynp hwwmwljugdh dygpumy 50,000.0 - 50,000.0
- Lwjuwqowhtinwgnunuyjwb dwuutp 5134 50,000.0 - 50,000.0
2160l 011610 LGghwbnip pGnyph hwpuwghlG ownuympnGGbp (wy; nuwubphG 120,000.0 120,000.0 )
Sujuinlyuling)
nphg”
21611 011611 isithulu[‘iEg;rpl;im]ph hwlpuwyhG SwnwjympyniGatp (wjp nuutphG 120,000.0 120,000.0 )
wyn pynud’
1. dhdmdlbp, hw unidllip, punwpubh npnymyulbph L
Ghph nbd JbpuwpGGhs L Jdnwpk Ghp Ghplpw g Ghihu 20,000.0 20,000.0 -
uwhdwijué Jowpndbhp
-Mupwwnhp yGwpGtip 4823 20,000.0 20,000.0 -
2. @nujph Gundunp hmuydmGpGh, wlgdwl L
wbnbwunympjub wpudunpiul hn Juwywd JowpnfGs, 100,000.0 100,000.0 i
-Uwulwghnwlul ownwympjniGGtp 4241 40,000.0 40,000.0 -
-Mupwmuwnhp yGwpGtip 4823 60,000.0 60,000.0 -
2200|0200 MUCSNULNMF3NFL 38,000.0 38,000.0 -
wyn pynud”
2220( 02| 2 | 0 | Rwnwpwghwlwl upuywnuywlnipini G 20,000.0 20,000.0 -
nphg
22211 02| 2 | 1| Lwnupughwiwl wuwpwmwwlnipjniG 20,000.0 20,000.0 -
wn pynui’
1. LPunuwpwghwlul wupwmuuwGnpjull wowlignipin 20,000.0 20,000.0 -
-QnuutiGyuyuwjhG Gyniptip L hwgniun 4261 600.0 600.0 -
-SpwGuynpumuwjhG Gyniptp 4264 370.0 370.0 -
- U1 ppwghy npuiw)GnphGtp 4639 19,030.0 19,030.0 -
2250| 02| 5 | 0| Nuwpmupubnipyn G (wyy muubphl supunlpulng) 18,000.0 18,000.0 -
nphg”
22511 02| 5| 1| Nwpwmuyulnipjn (wj] nuubphG suyyuumfulng) 18,000.0 18,000.0 -
wyn pynid’
2. Qnpuwiubiphl wowlgmpm G 18,000.0 18,000.0 -
- Uy pGpughy npudw)GnphGp 4639 18,000.0 18,000.0 -
2400{ 04| 0|0 SLSEUULUL LULULRGLNRE3ARFLLEL 5,189,974.9 13,880,093.5 (8,690,118.6)
wyn pynud”
2420/ 04| 20 Egﬁfgﬁ;ﬁ’ﬁ;ﬁ%ﬁﬁgwfﬁﬁ”‘ﬁ”’h"""’fmﬁ' 300,000.0 . 300,000.0
nphg”
2424|104 2 [ 4|Nnnqmd 300,000.0 - 300,000.0
wjn pynui’
1. Npnquwb qud, wpnigmy L iJipuin 1 300,000.0 - 300,000.0
- Chliptiph L phGmpyniGGhph Yunnignid 5112 300,000.0 - 300,000.0
2450| 04| 5 | O [ SpwGuwynmn 19,035,412.4 13,596,543.5 5,438,868.9
nphg
2451| 04| 5 1 [wGwwwphwjhlG mpwGuwynpn 8,877,868.9 3,439,000.0 5,438,868.9
wyn pynud’
1. Uupwpn-pbunnlipu owolh bpmuln 1df L wywhuyu i 3,284,000.0 3,284,000.0 -
-Clliptinh L YunnygGtph ppwghy Gnpngnid b wywhujw Gnud 4251 3,284,000.0 3,284,000.0 -
2. Uupwyn-pbunlijw dwdlih hhdGulnpngnid 716,000.0 - 716,000.0
- Chliptiph L phGmpyniGGtph uuwhwwy Yepwlnpngnid 5113 716,000.0 - 716,000.0
4. <bGwuyunnbph Jbpw(in f 100,000.0 - 100,000.0
- Chliptiph L phGmpyniGGtph Yuwhww) yepwlnpngnid 5113 100,000.0 - 100,000.0
5. npmn6 wlgmuGbph unnigniy L JbpuGnpngniyd 384,868.9 25,000.0 359,868.9
-Chlptiph L yunnygGtph pGpwghly Gnpngnud L ywhuww Gnid 4251 25,000.0 25,000.0 -




Z |4 BmotmuwjhG Swfuutinh qnpownwiwl nuuwlwpqiwm o wyn pynid
Z | 2% 5| PwdhGGkph, uiptiph L quutph, hiswybu Gwl pjmgtnwih | 3 > QWb
? CBL E ¢ Oowjuutiph mGmbumghmwlywb nwuwyupgiw hnnwobtph g < & T Jupswlwl pymot | $nGnwjhl pymeot
@ wlywimubtpp ~
1 12]3|4 5 6 7 8 9
- Clliptiph L phGmpyniGGtph Junmgnud 5112 359,868.9 - 359,868.9
6. GuwidpowhG JwnniggwdpGhph JemuljwGqebnid L wywhwwlGng 675,000.0 90,000.0 585,000.0
-Uj1 dwluutp 4861 90,000.0 90,000.0 -
- Clliptiph L phGmpyniGGtph uwhwwy Yepwlnpngnid 5113 585,000.0 - 585,000.0
8. U Gbph L ngGh; Epwljwpnigmy L
hhsGwin o 3,678,000.0 - 3,678,000.0
- Chliptiph L phGmpyniGGtph Yuwhww) yepwbnpngnid 5113 3,678,000.0 - 3,678,000.0
9. ®nnnglt whuyw Gy L puthwgnponid 40,000.0 40,000.0 -
- Uy pGpughy npuiwyGnphGtip 4639 40,000.0 40,000.0 -
2455] 041 5 | 5 [lunnnjulwpwpwjhG L wjy) mpwluynpun 10,157,543.5 10,157,543.5 -
wn pynui’
2. GplauGh dinpmynipinblny piglopunjn, 11
Swnwinipni GGk umhpwjud (hwgnpmipin GG, 1,645,000.0 1,645,000.0 i
-UnipupnhwGtp ng $hlwluwub yhnwub (hwdw)lGpujht) 4511 1,845,000.0 1,845,000.0 )
JuquiwlbtpynipniGGaphG
3. dbnglnnlyw LEynpuwnpwGuynmnny nuglopunfuunndulb
3. UbpgbwnGu Lilmpunnpu Guunmnny niglopunjn, Yl 276,000.0 276,000.0 )
dwpwmpni
-UnipupnhwGbp ny $hlwluwlub whnwub (hwiw)lipuwjht) 4511 276,000.0 276,000.0 )
JuqiwybtpynpnGGtphG
4. dkpuljwpmgdwl L qupgugdwl bypnuywlwl puGyh
wowlgmpnudp hpwluGu LwGh dbwmpnunihnbg, 1,476,703.3 1,476,703.3 -
tpuwljunmgiw G opuw unnifipwljwo jhwgnpnipim GGG,
-Uj1 dwluutip 4861 1,476,703.3 1,476,703.3 -
5. & wlhwé GG 1furhl pulih wowlignip ]
wiljwlw LuuGh dtn, mphinbGh Jipuljupm g G 3,279,920.1 3,279,920.1 -
w wwnyhpuljwo jhugnpmipini GGG
-Uyj1 dwluutip 4861 3,279,920.1 3,279,920.1 -
6. G whwl shnipjpulG huplwlimpub G 1fwrhG
w wowlgnip wijwlw Lwd,
dbnpnuninbGh Jepwwnnigdwl ppuduwpGnphuihG opus 3,279,920.1 3,279,920.1 i
wwnyhpwljud jhugnpmipini GG,
-Uj1 dwuutp 4861 3,279,920.1 3,279,920.1 -
2490| 04| 9 | O (SGmbuwluG hwpwpbpmpymG6hp (wy puubphl swyunnlwing) (14,145,437.5) 283,550.0 (14,428,987.5)
nphg
24911 04| 9| 1|SGubuwlwl hwpwpbpnipyniGGatp (wyp nuubphG sywwnljuwing) (14,145,437.5) 283,550.0 (14,428,987.5)
wyn pynud’
1. “pnyGliph wbnuppmy 67,000.0 20,000.0 47,000.0
- Uy pGpughy npuiwpGnphGip 4639 20,000.0 20,000.0 -
-Ujmiptip L wuwpwqulbp 5221 47,000.0 - 47,000.0
2. Upwlgmpym G hwdwjGpuihl jwquwbpympm GG6phG
hmnwnluynpmpni 66Lph htan Juwyywd wlydun
owpwmpimG6Lph dunnmguwl L ghpbquwmbunnGbph 23,550.0 23,550.0 i
wwhwwlidwd hwiwp
- CGpwghy npudw)GnphGhp whnwywl b hwdw)GpGtph ng )
winlanpuh YugSulbpunipnGakpht 4637 23,550.0 23,550.0
.
3. Gunuwjunpdw@ L wmbnbumjuljul wbfulninghwlbph 100,000.0 100,000.0 )
qunquigniy
-UnipupnhwGbp ng $hGwluwlub yhnwwub (hwdw)lpujht) 4511 100,000.0 100,000.0 )
JuqiwybtpynpniGGtphG
4. Ugwlgnipym G hwdwjGpwihG L ns hwdwGpwihG )
wadwlbnuaiemiih wantnh 140,000.0 140,000.0
- Uy pGpughy npuiwyGnphGtip 4639 140,000.0 140,000.0 -
5. 15 phGwlvwlulb whnhyGhph omwpnidhg Uninph; (14,475,987.5) - (14,475,987.5)
-UGwnd gniyph hpugnuhg dninpbp 8111 (7,475,987.5) - (7,475,987.5)
-{nnp hpwgnuihg dnunpbp 8411 (7,000,000.0) (7,000,000.0)
2500{ 05|00 crUuUU UhQUJUS h NUCSNULNME-3NFL 1,125,146.0 685,000.0 440,146.0
wyn} pynud’
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Z | 2% 5| PwdhGGkph, uiptiph L quutph, hiswybu Gwl pjmgtnwih | 3 > QWb
? CBL E ¢ Oowjuutiph mGmbumghmwlywb nwuwyupgiw hnnwobtph g < & T Jupswlwl pymot | $nGnwjhl pymeot
@ wlywimubtpp ~
112]|3|4 5 6 7 8 9
2560| 05| 6 | o |CREWY dhgusuyph ywzunuywbnipm (w)) quubphl 1,125,146.0 685,000.0 440,146.0
Jwyurnljuling)
nphg
2561] 05| 6 | 1 [CrewUw hewuwnh wwpwwwnipymG (w nwutphl 1,125,146.0 685,000.0 440,146.0
suunlwilnng)
wyn pynud’
1. Qwlws inwpwoplbph hhdGmd L wwhuyw g 335,146.0 45,000.0 290,146.0
-Qwwnnty GyuwmwywjhG wy Gyniplip 4269 5,000.0 5,000.0 -
- CGpwghl npudw)GnphGlp whnwlwb b hwdw)GpujhG
wnlnpwihl jugqiwybpuynipniGGaphG 4638 40,0000 40,0000
- Chiliptiph L phGmpyniGGtph Yunnignid 5112 290,146.0 - 290,146.0
4. Upquiwipgliph umbnonid L ownljwuuwmnnif 340,000.0 190,000.0 150,000.0
-Qwwnnty GyuwmwywyhG wy Gynipbip 4269 190,000.0 190,000.0 -
- Clliptiph L phGmpynGGtph uwhwmwy Yepwlnpngnid 5113 150,000.0 - 150,000.0
5. Uowligmpim 6 hwdujGpuyhl Juquwybpuynipim 666phG
tpdnglGbph L 2hGmpm G668 wpengiwl L ywhwenpodw i 270,000.0 270,000.0 -
UliptGwlbph L vwppwynpnidGhph dbop phpdwul hwdw,
-Guuwhwnwy ngpudwp GnphGtp yhmwyuwl L hwdwjGpwjhG )
winlanpuhl YugsulbnuynpnGkpht 4656 270,000.0 270,000.0
6. fowhu; LlnuGhGh; Gwuwqbpomy 180,000.0 180,000.0 -
-Uj1 dwfuubp 4861 180,000.0 180,000.0 -
ALUYULTLUSRL ChLULULNME3NFL G
2600{ 06|00 8,909,656.9 5,971,963.9 2,937,693.0
UNUNMLUL SUNU3NMO3NRL
wyn pynud’
2610{ 06| 1 | O (RGwhwpwGughl phbwpwpnipim G 2,115,693.0 15,000.0 2,100,693.0
nphg’
26111 06| 1 | 1 |RGuwywpwlwjhG 2hGupupmpiniG 2,115,693.0 15,000.0 2,100,693.0
wyn pynud *
1. PlpGwiwy Jupni jglk wlinny 15,000.0 15,000.0 -
-Uj1 dwfuubip 4861 15,000.0 15,000.0 -
2. Gapnpn wunhswGh Jwujwompul puqiwpfuliupui
Ypwpwjhl 25Gpbph Jepwlwnngiwd, JpuwluboGuwi L 350,000.0 - 350,000.0
wipwgdwl wyluunnwGplbp
- Clliptiph L phGmpjniGGtph uuwhwwy Yepwlnpngnid 5113 350,000.0 - 350,000.0
3. Onppnpn wumnhdwbh Ypuwpwihl pLGplph pwlnwb
hbwnlaulpny pGulmwpuwompniGGtphg qphyuo pGulhsGEph 1,750,693.0 - 1,750,693.0
thnfuhunnmguwl hwdwp pGGpLph unnignid
- Chiliptiph L phGmpyniGGtph Junmgnud 5112 1,750,693.0 - 1,750,693.0
2630( 06 | 3 | O | 2pwdmunwupupniy 3,814,963.9 3,814,963.9 -
nphg”
2631( 06| 3| 1 |2pnuiwwmwlwpupnud 3,814,963.9 3,814,963.9 -
wyn pynid”
1. QwdupumphuyghG pullih wowlgmp iy wilju Gu
L) wduwnnwiwpwpdwl L gnwhbpwugdul opw 1,099,356.6 1,099,356.6 -
wwnfhpwlijuo jhwqnpmipini GGL
-Uj1 dwuutp 4861 1,099,356.6 1,099,356.6 -
2. bpwGuhwip <wlpwwbnnipjul junwjunpnpjuG
wouligmpudp hpwljuGu, Ll wifwwmwwpupnfu G
L gpwhbpwgviul opwgphl wnbfuGhlulpwG 21672625 2167,282.5 )
wowligmpnul opu wuhpulywo jhugnpnipini 666
-Uj1 dwuubp 4861 2,167,282.5 2,167,282.5 -
3. bpwlupwjh Qwlpwwybnmpnul junwyjwnnipjul
wouligmpudp hpwljuGu, Ll wifwwmwwpupnfu G
L gpwhbpwgdwl opugphl inpud; wnbfuGhlulpwi 218,324.8 218,324.8 -
wowligmpnul npuidwyGnphuighG opw wuhpulu o
[wgnpmpni GGhp)
-Uj1 dwfuutp 4861 218,324.8 218,324.8 -




BmotmuwjhG Swfuutinh qnpownwiwl nuuwlwpqiwm

wyn pynid

pd
z s o
=5 5| PwdhGGkph, uiptiph L quutph, hiswybu Gwl pjmgtnwih | 3 > Onuhn
? CBL E ¢ Oowjuutiph mGmbumghmwlywb nwuwyupgiw hnnwobtph g < Jupswlwl pymot | $nGnwjhl pymeot
@ wlywimubtpp ~
1 12]3|4 5 6 7 8 9
4. Iodbym gph Jwwmwlwpupdwl b gpwhbpwgdul
4. ubym Jwmwlupupdwl L 9gpwhbnugdw G 330,000.0 330,000.0 )
dwnw mp i G6Eph unipuhnuiynpng
-UnipupnhwGbp ngy whnwlwG (ng hwiw)GpwjhG) ny )
phlwuwlut ugiulbpunpgm GGbpht 4521 330,000.0 330,000.0
2640| 06 | 4 | O | Pnpnglbph jmuunfnpmy 2,093,000.0 1,736,000.0 357,000.0
nphg”
2641| 06| 4 | 1|®nnngGtph nruwynpnud 2,093,000.0 1,736,000.0 357,000.0
wyn pynud”
1. Umnwphl muuwninpmpjwl quligh hhdGwlnpngmf 300,000.0 - 300,000.0
- Clliptiph L phGmpjniGGtph uuwhwwy Yepwlnpngnid 5113 300,000.0 - 300,000.0
2. Umnwphl mmuwynpmpjul gulgh ywhugnpodul L
whwwlidwl w oGl 1,696,000.0 1,696,000.0 -
-Uj1 dwfuubp 4861 1,696,000.0 1,696,000.0 -
3. Upwligmipym G hwdwjGpuihl jwquwbpympim GG6phG )
UtipbGwGph dbnp pbpdwd hwdwn 40,000.0 40,000.0
-Guuwhwwy npudw Gnphbtip yhnwywl b hwdwGpwjhG )
winlanpuhG YugsultpunipnGakpht 4656 40,000.0 40,000.0
4. «Gppwnniju» GLL-h LGpliph ln f 57,000.0 - 57,000.0
- Chliptiph L phGmpyniGGtph Yuwhww) ypwlnpngnid 5113 57,000.0 - 57,000.0
RluwluwpwGuyhl phGwpupmpyul L Gndm Guy
2650 06 | 5 | 0 |owrwympymGGtph 9ony hinwqmmulpué L Gwfuwqowghl 10,000.0 - 10,000.0
upfuwnwGpGhp
nphg”
PlGwlywpwlwihG 2hGwpuwpnipyub L ynintGw) ownwjnpjniGGtpph )
265106151 qony htmwgnuuywb L GwhwqowjhG wfuwwnmwlplbn 10,000.0 10,000.0
wyn pynud’
1. Chlpbph L phlGmpin G6Eph hbumugmnuwl wyfuwnwpbbp 10,000.0 - 10,000.0
- Lwliwgqdwhtnwgnuuywl dSwfuubp 5134 10,000.0 - 10,000.0
2660| 06| 6 | o |0 iwpwGuAG 2hGupwpmpyul L Ymini Guy Ownuijnipjm66En 876,000.0 406,000.0 470,000.0
(wj) puubphl swwnnlulng)
nphg”
2661 061611 PGwluwpwluwyhb 2hGwpwpnipjul L YnintGw) ownwjnipjnGGtp 876,000.0 406,000.0 470,000.0
(w1 puubiphG jwwwnlwnn)
wyn pynu’
3. PuljuhG vmupwopGnh L fpwnuwhpuwwwpwlGEph )
hhuGulin 1 n1 yuwhuywGnig 120,000.0 120,000.0
- Chiliptiph L 2hGmpynGGtph juwhwwy Yepwlnpngnid 5113 120,000.0 - 120,000.0
5. PuqiwpGuwlupub p6Gpk wnblwpouwl w 350,000.0 } 350,000.0
upfuunwGplhn
- Chliptiph L phGmpyniGGtph Yuwhww) ypuwbnpngnid 5113 350,000.0 - 350,000.0
6. Qpwjhl qunnjglhph pwhwenpomdy b upwhujwlnid 276,000.0 276,000.0 -
-Uj1 dwuubp 4861 276,000.0 276,000.0 -
8. Guwnmgwupumndw i G4 1w G Opwgnk; wqiwlbpunid 100,000.0 100,000.0 -
-UnipupnhwGtp ny $hlwluwlub whnwwub (hwiw)lipujht) 4511 100,000.0 100,000.0 )
JuqiwybtpynpniGGtphG
9. QuipuuyunnGbph wywhwwGnyg 30,000.0 30,000.0 -
- CGpwghy npudw)GnphGlp whnwlwl b hwdw)GpwjhG )
wnlanpuyhG jugiwybpynipniGGephG 4638 30,000.0 30,0000
2700({ 07|00 UoNIQUMNULNM3NFL 105,032.0 10,000.0 95,032.0
wyn pynud’
2710{ 07| 1 | O (RdrhmlywG wiypuGpGhp, uupplp L wwppuninpmuGhp 10,000.0 10,000.0 -
nphg”
27111 07| 1| 1 |¥bnugnpowlul wwypwlplbp 10,000.0 10,000.0 -
wyn pynud”
1. Uowlgnmpim G wonnowwjwhwjwl juqiwibpynipin 6G6aphG )
pdohwlwl vwppwynpmdGbph dbnp phpdw 6 hwdwnp 16,000.0 10,000.0
-Guuwhwwy npudw Gnphltp yhnwywl b hwdwjGpwjhG 4656 10,000.0 10,000.0 )

wnlunpuhl yugqiwybpympmGapha




% o | e BmotmuwjhG Swfuutinh qnpownwiwl nuuwlwpqiwm o wyn pynid
Sk 5 pwdhGGtph, fudplinh L nguubtph, hGsuybu Gul pynigtnwhG g = CGnuttGp
v§> CBL E ¢| owfuutiph mGmbtuwghmwwl nuuwywpqiwb hnnpwdGkph g z Jupswlwl pyoigh | PnGrwhG pymet
wlywimubtpp ~
1 (234 5 6 7 8 9
2760| 07| 6 | O (Upnpowwuhnipimb (wyj] nuiubphl suunnlubng) 95,032.0 - 95,032.0
nphg
2761|107 6 | 1 |Unnnowwwhwlwl hwpwlhg dwnwjnipniGatp L dpugpbp 95,032.0 - 95,032.0
wyr pynid”
1. Unnnpwuwhwlwé opjljmGhph hhdGwGnpngnid 95,032.0 - 95,032.0
- Clliptiph L phGmpjniGGtph uuwhwwy Yepwlnpngnid 5113 95,032.0 - 95,032.0
2800|0800 {ULahUS, UCUUNR3E 6Jd UL 7,549,433.3 1,099,685.8 6,449,747.5
wn pynud”
2810{ 08| 1| 0 (Swlqunp L vwynpnp dwnwynmpmGGkp 6,379,747.5 80,000.0 6,299,747.5
nphg®
2811| 08| 1] 1|<wliquwh kL uynpnh ownwjnipjniGitp 6,379,747.5 80,000.0 6,299,747.5
wyn pynud”
1. UynpuwghG dhongunnidGph juquulbpynid 40,000.0 40,000.0 -
- Uj1 pGpughy npuiiw)GnphGhp 4639 40,000.0 40,000.0 -
Z wZ’ﬁw"ﬁ’;’l e Gbph b qpruwyghBbph fuwinnigm ot 363,760.0 40,000.0 323,760.0
- Uj1 pGpughy npuiw)GnphGhip 4639 40,000.0 40,000.0 -
- Chiptiph L phGmpjniGGtph Junmgnid 5112 200,000.0 - 200,000.0
- Chliptiph L phGmpyniGGph Yuughunw) Ytpwlnpngnid 5113 123,760.0 - 123,760.0
3. {bowljwhpwwwpwlh jwenigmy 5,975,987.5 - 5,975,987.5
- Chliptiph L phGmpjniGGtph unnignud 5112 5,859,948.9 - 5,859,948.9
- Lwjuwqowhbnwgnunuwl dwjuubtp 5134 116,038.6 - 116,038.6
2820| 08| 2 | O (Upwlmpuyhl owumuynipymGGtn 1,153,685.8 1,003,685.8 150,000.0
nphg”
2821|108 2 | 1|QpwnuwpwGGtp 107,136.9 107,136.9 -
wyn pynud”
1. QpumpwpuGuirhG ownwnmpmGGhp 107,136.9 107,136.9 -
l;zg;pwuﬁgigg;‘fﬁqglgg;”ﬁﬁ”wq“‘ﬁ wtnwwl (hudwjlpuyh) g, 107,136.9 107,136.9 -
2821108 2 | 2 |Pwlqupubitp L gniguupwhGtp 193,656.1 193,656.1 -
wyn pynud’
1. Pwlqupubuhl Swnuynipin GGhap L gmguhwlGnbulbp 193,656.1 193,656.1 -
Gzztjpu‘iggiggSfﬁaﬁ’ﬁgﬁﬁﬁ“‘“”‘“ﬁ vt (hudwyGpuyh@) )0y 193,656.1 193,656.1 -
2823| 08| 2 | 3|Upwlnyyph wmhkp, wyniplbp, YaGupnGatp 100,000.0 - 100,000.0
wyn pynu’
2. Upwyniiph wGbph hhuGuiln 1 L fipulin 1f 100,000.0 - 100,000.0
- Chiliptiph L 2hGnipyniGhtph yuwhumw yepwinpngnud 5113 100,000.0 - 100,000.0
2824] 081 2 | 4 |Uj dpwynipuyhG juqiwybpuynipniGGtp 424,637.7 374,637.7 50,000.0
wn pynu’
1. Dwympuwhl shongunnidGbph hpwluGugnid 180,000.0 180,000.0 -
- Uj1 pGpughy npudw)GnphGp 4639 180,000.0 180,000.0 -
2. YhlnuGwpwlwiwb wijgm gmgunpnipimGik; 194,637.7 194,637.7 -
L;iﬁfﬁﬁﬁgiﬁf;ﬁff&ﬁﬁﬁﬁﬁuw”wﬁ il (hudwyGpugh@) gy 194,637.7 194,637.7 -
3. Gblnwlwpwlwlwl uijgn hhdGwinpngnid 50,000.0 - 50,000.0
- Chiliptiph L 2hGnipyniGabph uwhumw yepwinpngnud 5113 50,000.0 - 50,000.0
2825| 08| 2 | 5 [Upytuwm 308,255.1 308,255.1 -
wyn pynud’
1. bpudywmupfbump b wwpwnybumh hudlingGep 62,238.3 62,238.3 -
l;zzgpuli{;gﬁiggllIr]l[zﬁi};ﬁ}[iﬁ;ﬁuml{mﬁ whnwul (hwiw)GpwjhG) 4511 62.238.3 62,2383 )
2. Punnbpwlpwl GhplwjugnidGbp 246,016.8 246,016.8 -
ngﬁggiggSfﬁaﬁ’ﬁgﬁﬁﬁ“‘“”‘“ﬁ wtnulu@ (hudwyGpuyh@) o)y 246,016.8 246,016.8 -
2827| 08| 2|7 i;ztgllil;niﬁihph U dzwhnpuijh wpdtpGlnh Ytpuwhwlgnud L 20,000.0 20,0000 -
wyn pynud”
1. <npuipdwGGph Jbpwin 1y b wywhuyw o 20,000.0 20,000.0 -
-Chlptiph L yunnygGtph pGpwghly Gnpngnud L ywhww Gnid 4251 20,000.0 20,000.0 -




Z |4 BmotmuwjhG Swfuutinh qnpownwiwl nuuwlwpqiwm o wyn pynid
Z | 2% 5| PwdhGGkph, uiptiph L quutph, hiswybu Gwl pjmgtnwih | 3 > QWb
? CBL E ¢ Oowjuutiph mGmbumghmwlywb nwuwyupgiw hnnwobtph g < & T Jupswlwl pymot | $nGnwjhl pymeot
@ wlywimubtpp ~
112(3 5 6 7 8 9
2840( 08| 4 | 0| UpnbwlwE L hwuwpwlwlwb wj ownwjnipjmGGhp 16,000.0 16,000.0 -
nphg’
2843| 08| 4 | 3|UpnGwlywl L hwuwpwwlwb w)p ownwjmpynilatp 16,000.0 16,000.0 -
wyn pynud’
1. Unwdwlgmpnub |Jowpbbp 16,000.0 16,000.0 -
-LYhpwwympjniGGtip wy) Qwhnyyp shtnmwwlnnn )
wqiwlbpunipnGGhphG 4819 16,000.0 16,000.0
2900|0900 YLENrM3NKL 14,944,433.0 13,394,433.0 1,550,000.0
wyn pynud”
2910| 09| 1 | O | vwfumnpypngwlué L mmppulpuG pphwGmp Yppmpmn G 5,457,687.6 5,457,687.6 -
nphg”
2011 09 1 [ 2|SwnnwwG ninhwGnip Yppnipmt (wunayppuuo 5,457,687.6 5,457,687.6 -
1hwgnpmipniGGhnp)
wyn pynud’
1. Qwlpwlppwljwl nunignid 5,144,702.3 5,144,702.3 -
-CGnhwnip pGniyph wy) OwnwynpiniGatp 4239 5,144,702.3 5,144,702.3
2. {unnm n1p G 111,581.9 111,581.9 -
-CGnhwnip pGniyph wj) OwnwynpjniGitp 4239 111,581.9 111,581.9
3. UbpwnwijnuG Yppoipjm G 201,403.4 201,403.4 -
-CGanhwnip pGniyph wy) OwnwynmpyniGatp 4239 201,403.4 201,403.4
2920( 09| 2 | 0| UpoGwilpupg pinhwGnip YppoipymG 6,636,581.4 6,636,581.4 -
nphg”
2021 09 2| 1 [ShuGu panhw G Ynpripynil (yuwnyhpulidud 5,623,848.0 5,623,848.0 .
[hwgnpnipniGGtip)
wyn pynud”
1. Swlpuhppwljul niunigniyg 5,262,206.1 5,262,206.1 -
-CGnhwnip pGniyyph wy OwnwynipjniGlitp 4239 5,262,206.1 5,262,206.1 -
2. Lunnm n1p G 176,590.5 176,590.5 -
-CGnhwnip pnyph wj] SwnwympyniGGbp 4239 176,590.5 176,590.5 -
3. Ubpwnwljub Gpnpmpini G 172,631.5 172,631.5 -
-CGnhwnip pGnyyph wy ownwynipyniGlitp 4239 172,631.5 172,631.5 -
4. pbynjuG Yppmpm G 12,419.9 12,419.9 -
-CGnhwnip pGniyyph wy OwnwynipyniGlibp 4239 12,419.9 12,419.9 -
2022 09| 2 | 2|VPebutwpa(nin) plghulnip hppmpym (wpunhpuliud 1,012,733.4 1,012,733.4 :
|hwgnpnipniGGtip)
wyn pynud”
1. SwGpuwppwljul niunigniy 980,750.8 980,750.8 -
-CGnhwnip pGnyph wy) SwnwympiniGatp 4239 980,750.8 980,750.8 -
2. Lunnm n1p G 13,583.9 13,583.9 -
-CGnhwnip pnyph wj] SwnwympyniGGbp 4239 13,583.9 13,583.9 -
3. Ubpwnwljub Gpnpmpini G 4,038.2 4,038.2 -
-Canhwnip pnyph wj) SwnwympyniGGtp 4239 4,038.2 4,038.2 -
4. pbynjwG Yppmpm G 14,360.5 14,360.5 -
-CanhwGnip pnyph wy) SwnwjmpyniGGtp 4239 14,360.5 14,360.5 -
2930l 091 3| 0 Vuwfulbwlwl dwulwqhnwlui (wphbumwgnpowlwa) L shohl 203,630.2 203,630.2 )
dwulwghumuljw b Gppmpn G
nphg”
Lwhilwlwl SwuGuwghnwlwul (wphbunmwgnpdwywa) )
2931{ 09| 3|1 UppntpyniGi (wwnnhpuildwd (hugnpntp i) 293,630.2 293,630.2
wyn} pynud’
. JuGwly qhunuljul (wph gnpowljub)
1. wubwlug dwulumqhnwlwl (wphbunwgnpouljug 242.796.4 242.796.4 )
Uppmipim i
-CGanhwnip pGniyph wy) OwnwynmpyniGatp 4239 242,796.4 242,796.4 -
2. bufuGwljug dwuluqhnwlml (wphbunwgnpouljug 50,833.8 50,833.8 )
nip Ll umwgnng niuwlnn GG, wpnyw
-Uppwiul, Gywlynipwjhl L uynpuwjhl Guuwuwmbp pjnigtihg 4727 50,833.8 50,833.8 -
2950{ 09| 5 | O | Pum vwlupnuGhph spunnulpupginn Yppnip/niG 1,156,533.8 1,006,533.8 150,000.0
nphg”




Z |4 BmotmuwjhG Swfuutinh qnpownwiwl nuuwlwpqiwm o wyn pynid
Z | 2% 5| PwdhGGkph, uiptiph L quutph, hiswybu Gwl pjmgtnwih | 3 > QWb
? CBL E ¢ Oowjuutiph mGmbumghmwlywb nwuwyupgiw hnnwobtph g < & T Jupswlwl pymot | $nGnwjhl pymeot
@ wlywimubtpp ~
1 12(3]|4 5 6 7 8 9
2951|109 5| 1 |Upnwnupngwlwl nuumhwpwynpymi 1,156,533.8 1,006,533.8 150,000.0
wyn} pynud’
1. Upnwnuypngujwl nuumpwpumpin G 1,000,059.8 1,000,059.8 -
-CGnhwGnip pGnyph wy ownwmpymGGtp 4239 41,384.3 41,384.3 -
-UnipuhnhwGtp ng $hGwluuul yhmwlwb (hwdw)GpuyhG) 4511 958,675.5 958,675.5 )
JququwytpwnipyniGGtphG
2. Upnwnuypngwiwl juqiwlbpynipmi6bph hhdGwlnpngnid
2. Umnu, whwl juquwhbpynipmGGaph hhuGuwln, 1) 150,000.0 ) 150,000.0
L YbpwGnpngnid
- Chiliptiph L 2hGnipyniGabph uwhumw yepwinpngnud 5113 150,000.0 - 150,000.0
3. «wlnp Gnonpul» whwiwihp MNUG-my
wpnuw; wlhwl pwunhwpwnipjul jugiwlbpumyg 6,474.0 6,474.0 -
wnhpwlpjud jhwgnpnipni GGk,
-CGnhwnip pGniyph wy) OwnwympiniGatp 4239 6,474.0 6,474.0 -
2960| 09| 6 | O |Uppmpjwlip inpudwnpynn odwlinuwl dwnuwynipymGGhp 1,400,000.0 - 1,400,000.0
nphg”
2961|109 6 | 1 |Yppnipjwlp mpuwdwnpynn odwlnuy dwnwjnipniGGtp 1,400,000.0 - 1,400,000.0
wyn pynud’
1. bwpnwpypnguwl hwmnwmmpmG6bph hinfGwGnpngmid b
1. bwfuw wlwl hwwnunnmpim GGaph hphdGwln i b 1,400,000.0 ) 1,400,000.0
Yhpulinpngnid
- Chiliptiph L 2hGnipyniGabph uwhumw yepwinpngnud 5113 1,400,000.0 - 1,400,000.0
3000|1000 UNsShuLULUUL NUCSNULARMG3NFL 29,000.0 29,000.0 -
wyn pynud”
3070l 101 7|0 UnghwjwljuG hwwmnl wpmnGmpimGGhp (g nuubphlG 29.000.0 29,000.0 )
Sujuinlyling)
nphg”
3071l 10] 711 Unghwjuwl hwwnml wpnnGmpjmGatp (w)) nuutphG 29,000.0 29.000.0 )
swuwnljwinn)
wyn pynud’
3. Unghwjwuyby wlwwwhny plnwhpGbphl wnlwlmG
3. Unghwpwuybu wiwujwhm] pGunwGhpGEphG mnGwlwl 22.000.0 22,000.0 )
onbphG wowlgmpimG
- Uy nlpwghy npuiw)Gnphlbp 4639 11,000.0 11,000.0 -
-Uj1 GywuwnGhp pynigtihg 4729 11,000.0 11,000.0 -
4. Unghwpwubu wiwujwhm] widwlg wowlgmpin G 5,000.0 5,000.0 -
-Uj1 GywumGlp pymotihg 4729 5,000.0 5,000.0 -
5. Swunwpwilpuljwl quguwlapuympmGGhphG wowlgnipni G 2,000.0 2,000.0 -
-LYhpwwympjniGGtip wy) Qwhnyyp shtnwwlnnn )
wqiwlbpunipnGGhphG 4819 2,000.0 2,000.0
LhULUUTL AUFRULULELRYL Q9.UUYNA,
3100{11|0{0 1,319,918.6 4,116,039.6 20,000.0
NULNRUSUBhL DNLAEL
wyn pynud”
3110j11|1(0
<< qunwjwpmpyub b hwdwyGplhph wwhmumnw;hG ol 1,319,918.6 4,116,039.6 20,000.0
nphg”
3112| 11| 1| 2|<< hwtfw)GpGtph wjwhniwnwhG $ntn 1,319,918.6 4,116,039.6 20,000.0
wyn pynud”
-NuwhnunwjhG dhongGtip 4891 1,319,918.6 1,299,918.6 20,000.0
~{wwnlfugnid wwhnwwnwjhG $nGnhg $nGnwjhG pynigk X - 2,816,121.0 -




